
���������	����
��
����������������
�
���������
����

����! "����
$#%����
����'&)(*��
��+�,�-��
��-�'&.(���
�����/+�������0�	����

1325476�498):�;=<.>@?.ACB.:DAFE�2$GIHJ?.>7:�ALK�?.:DAM:�;=6�2$?.GIAD8*N�?.:D>@N�?.:DAM<.GO25<.GI47PDQIP�ACPDK�4@B):�;+QR:DASN�?.:TK525?)AM<*25?)K5:DUV?�QR4@>74@AO:�G

B.47GI:D6DQR:DH,:D;+Q�WYXZ4\[]B):�AIAO25?.AD8YAI4
?.;.:VE�25GIHJ?)>@:T:�A^Q_B.25;.;)P�:JAO25?.AM>@`�E�25GOH,:aB	bc?.;.:J47H,<)>@4@6�`dQR4725;	8�6$bc:�A^Q_N�?.:JAR`,GIPe[
6D4@<.GO2�N�?.:T:�A^QCE-`$?.AIAO:$W

f �

����! "����
hg
i 254\Q

E
?.;=:�;.AO:�HJj.>7:T:DQ

A
8
B
8
C
B.:DAF<.`$GOQI4@:�ACB.:

E
W�kl;m`JQR2$?�nO25?.GOAao

A ∩ B ⊂ A
8
A ∩ B ⊂ B

8
A ∩ B ⊂ A ∪ Bi 4

A ⊂ B
:DQ

B ⊂ C
`$>725GIA

A ⊂ C
W

i 4
A ⊂ B

`$>@2$GIAL<*25?.GpQR2$?)QC:�;.AO:�HJj)>@:
C
8
A ⊂ B ∪ C

:DQ
A ∩ C ⊂ Bq

A ⊂ C
:eQ

B ⊂ C r ⇔ A ∪ B ⊂ Cq
A 6= ∅

25?
B 6= ∅ r ⇔ q

A ∪ B 6= ∅ r
f �

����! "����
s�+�'�	�
&.�t���vu%/5&)��������
 q >@:DAJE�25GIHJ?)>@:�Aw6�4\[xB.:�AOAI25?)A�;):=AO25;+Q�<y`$A�>@:DA�H,zDH,:DAJN�?.:{6D:�>7>@:�A�B)?

<*25>7|�6D25<.4@PMB.:V>725}547N�?): r
i 4

A ⊂ B
:DQ q 47>Y:�~)47AOQI:

x
By`$;.A

A
QI:�>0N�?.:

P (x) r `$>725GIA q 4@>Y:e~�4@A^QR: x
By`d;.A

B
QI:�>	N�?.:

P (x) r
i 4

A ⊂ B
:DQ q <*25?.GLQI25?)Q

x
By`$;.A

B
8y2$;{`

P (x)
`$>725GIA q <*25?.GLQR2$?)Q

x
By`$;)A

A
2$;m`

P (x)

q-� >0:�~�4@AOQI:
x
By`$;)A

A
QI:�>0N�?.:

P (x) r 25? q 4@>t:e~�4@A^QR:
x
By`d;.A

B
QR:�>0N�?.:

P (x) r ⇔ q�� >0:e~�4@A^QR:
x
B.`$;.A

A ∪ BQI:�>0N�?.:
P (x) r W

i 4 q 47>y:e~�4@A^QR:
x
B.`$;.A

A∩B
QR:D>tN�?.:

P (x) r `$>@2$GIA qO��� >*:�~�4@AOQI: x
By`d;.A

A
QR:D>tN�?.:

P (x) � :DQ � 47>�:e~�4@A^QR: x
By`$;.A

B
QR:D>0N�?):

P (x) ��r W
q�� 25?.G�QR25?)Q

x
By`$;)A

A
8�25;�`

P (x) r :eQ q <t25?)G�QI25?)Q x
By`$;.A

B
8�25;�`

P (x) r ⇔ q <t25?)G�QI25?)Q
x
By`$;.A

A∪B
8

25;=`
P (x) r

� �'&.(��m�+�,����&.(��m����/+�-�
���0�	���
i 2547:�;+Q

E
8
F
B.:�AF:�;)AI:�Hwj.>@:DA�W i 2547:�;+Q

A ⊂ E � A′ ⊂ E
8
B ⊂ F

8
B′ ⊂ F

W
i 4

A ⊂ A′
`$>725GIA

f(A) ⊂ f(A′)
W��CP�6D4@<.GO2�N�?.:lE-`$?)AIAI:a:�;=}5PD;.P�GI`$> q K�GR`d4@:_N�?y`$;.B

f
:�A^QM47;�nO:�6eQR4\K5: ri 4

B ⊂ B′
`$>@2$GIA

f−1(B) ⊂ f−1(B′)
Wy�FPD6�47<.GI2�N�?.:_E-`$?.AIAO:V:D;{}$P�;.PDGR`$> q K�GI`$4@:_N�?y`d;.B

f
:DAOQFAI?)G�nO:�6eQR4\K5: r W

f(E) ⊂ F � f−1(F ) = E � f−1(f(E)) = E
W

�


